
REDROCK� 

HD OVERLAND BED RACK 
(2005-2021 TACOMA) 

INSTALLATION INSTRUCTIONS 

CONTENTS 

(1) LH Base Panel

(1) RH Base Panel

(1) Crossover Roll Bar

(1) LH Rear Panel

(1) RH Rear Panel

(1) LH Center Connector Panel

(1) RH Center Connector Panel

(1) LH Rack Side Bar

(1) RH Rack Side Bar

(1) Front Rack Panel

(1) Rear Rack Panel

(4) Crossover Bars

(4) Utility Rail Nut Plates

(8) MlOxl.50 x 30mm Hex Bolts

(8) MlOxl.50 x 25mm Allen Bolts

(8) MlO Flat Washers (Yellow)

(8) MlO Flat Washers

(8) MlO Lock Washers (Yellow)

(8) MlO Lock Washers

(8) MlO Flange Nuts

(24) MSxl.25 x 15mm Allen Bolts

(8) MSxl.25 x 50mm Allen Bolts

(64) MS Flat Washers

(32) MS Lock Washers

TOOLS REQUIRED 

5mm Allen Key/Socket 

13mm, 15mm, 17mm Wrenches 

Ratchet 

SKU # TT21813 












	TT21813 - RedRock 4x4 - HD Overland Bed Rack (05-21 Tacoma)-01
	TT21813 - RedRock 4x4 - HD Overland Bed Rack (05-21 Tacoma)-02
	TT21813 - RedRock 4x4 - HD Overland Bed Rack (05-21 Tacoma)-03
	TT21813 - RedRock 4x4 - HD Overland Bed Rack (05-21 Tacoma)-04
	TT21813 - RedRock 4x4 - HD Overland Bed Rack (05-21 Tacoma)-05
	TT21813 - RedRock 4x4 - HD Overland Bed Rack (05-21 Tacoma)-06

